F348HARAR—VIREL LR

A IRV IR B D4 R
F 34 8MEARN—VIEHL U

A TR — 2 IR BILPE EE 0D 5% 57 HA R
TR 2 0E7H9H (OK) ~F4ETH1I6H (K)

FRERESZFEE L8 B KO
‘mini toto B (S =~FB7Z )
k) ROREETH17H K J1%H1 7H

TRk 2 OFF7H16H
ey i

TR20%£7H18H
MITTBGEABARRR—VIRE+E 42—

WRk2 OF7TH22H (k) ~¥21F7H21H (K)
AZR—VIRHL U OFER KOS AL
‘mini toto B#i
roE R A B R
No. ﬁwé [F—2F—21] NN RS (7= A F—2] < LR
BAfE H
©) 7/16 A% ] 1 % 0 FHEF « <= U /A 1
) 7/17 LA I x 0 KETNVT 4 —T % 1
® 7/17 N7 wa 2 —1 2 %t 1 BT AL A 1
@ 7/17 Ta b miEH 2 %t 1 BT T RA 1
® 7/17 NPT 3 Xt 2 W7 = )VF ¢ 1

GB) < UEOMT 1) 1ZFh—2F—20005MTolE, 2] 3h—AF—20905M ORI,
[0) Xz (1. 2L OFER) 2FKT,

R S| WA K WA (mini toto BHH) M4
(M () (F)
1 % 1,657 4,836 0
B o= A5 A A (mini toto B) N4 (M)
e BasE (M) 16, 032, 300 1 % | 0
BEOH (0) 160, 323
RS (KO 31, 331




F348HARAR—VIREL LR

A IRV IR B D4 R
F 34 8MEARN—VIEHL U

AR PR B B IR O FE 5e M [
V2 07T H 9 R OK) ~FHETH

FRERESZFEE L8 B KO
‘mini toto A (ZS=hFFAZ )
VR 2 02 7H16H (k) J148

ctotoGOALS3

FR2 0FE7H16H (k) ] 1%

TA R AR

VK2 04E7H1T8H (&) ~Fk2

AR—VIEEL COMEE VY TAS
‘mini toto A#

WILAT

16H (k)

1 7 ffi

(Fha—n2Y—)

1 7 ffi

1E7H17H (&)

TRE20£7H817H

BUEANBARRAR—VIREE 2 —

BoE R A B B
No. ﬁwé [F—2F—21] NN RS (7= A F—2] < LA
BAfE H
D 7/16 oY R— AL 0 xt 0 Koy h)=—% 0
® 7/16 HERY L HF. C. 2 %t 1 BE7 v hT7—X 1
® 7/16 F CHIK 1 %1 VINZAVN 0
@ 7/16 TILE Ly 7 AHE 2 xt 2 VxTaf ATy RTEE 0
® 7/16 A% ] 1 % 0 FHEF « <= VU /A 1

(F) < UHREoME M1 ZA—LF—L2D900FBTOMKL,
[0) Xz (1. 2LAOFER) 2#FKT,

(2] (IR —LF—LD905 M TORIT,

R S| WA K WA (mini toto AKH) INEL4:
(M () (F)
1 % 93, 149 109 0
B = A5 A A (mini toto AM) N4 (M)
e BasE (M) 20, 306, 600 1 % | 0
BEOH (0) 203, 066
BERH (KO 40, 238




*totoGOALS3

B oE R & B %

N [F—2F—1] g < U
7/16 D a Y% F— LI 0 0

@) Koy hl=—% 0 0
716 ® | m#ESH > AF. C. 2 2

@\ EE7FT7—X 1 1

G| FCcHK 1 1
VA6 s T i i

() < UHER M To) 13905 TOEF— L 0H8 T08]
(2] 13903 COKTF —LDGMA 2,50 |

M) 13903 CHOEKEF—LDFR TR
(3] 1290 COEF—LDEA 350 ) #%T,

e R % | WA MK IE] (totoGOAL3) AN 4>

(M) q=p (F)

1 %= 163, 094 57 0

2 % 4,280 1,450 0
B o= A5 A [A] (totoGOAL3) HNE 4 (1)
e k& (M) 31,007, 200 1 % 0
BEOH (1) 310, 072 2 & 0

RS (KO 41,956




